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XA oAzt 2435 7,121,952 7,059,570 62,382
=2 26,039 26,039 0
[=4 85,198 85,198 0
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02 & AN Y 8,000 0 8,000
OFOIH FUSAANG (sAE HOIEE EHOI
X RE)ZIHAE50) 8,000,000&4 8,000 0 8,000
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03 B A2 G H 10,000 9,000 1,000
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CR N 2,438,336 2,433,336 5,000
XNel= XYL AL X & 2,438,336 2,433,336 5,000
303 Zat3 460,000 455,000 5,000
01 Za2 460,000 455,000 5,000
OXTH B84Y 455,000,000 455,000 450,000 5,000
HE2YAH (HYXNAD) 13,133,057 13,170,267 A37,210
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02 SBAN2 2,856,790 2,900,000 ~43,210
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= 50,0002 *3% x396 2 59,400 54,750 4,650




